MARKING SCHEME
CLASS- X

SCIENCE (2023-24)

o HF-Aorem # Ru v sw-feg sfaw 7@t 81 ¥ oA @
idfaw g1 afy et & g9 e, feg 3ugea s R &,

Y 39 39T I+ T S|

e The answer points given in the marking scheme are not final. These
are suggestive and indicative. If the examinee has given different, but
appropriate answers, then he should be given appropriate marks.

Q. Questions Marks
No.
1. | a) FIT & IAASPR Told
1
Rectangular glass slab
2 TR ITAT FRY
- |a) feaa
g ORI X THAY
Work done 1
current X time
3. |l W1 & Yehrer T FehoTer 378 gleT & HROT 3ThIT

T T At fe@g ¢ar

Clear sky appears blue because blue colour is most
scattered.

Tl

N




Fuse

c) A I § WJ R 38T &l

A is true but R is false.

a) GI & YR (WA FhIRN) A UsH & TR N T8
YRl | 3Gy i H [asterd g 1 gl
(1 37)

When sunlight (white light) passes through the prism,
this light is divided into seven constituent colors.

(1 mark)
b) edd YT & TuT fI&IUT & Heard®q Ured aTd Wi
T 3HeJsh# UThH hgellal ¢

(1 3t)
The sequence of seven colors obtained as a result
of the dispersion of white light is called the spectrum.

(1 mark)
a) faegd greX &I SN T YR 0T gielr g
safav gg 3acd A8 g (V2 37)

Safeh 3G di9eT 379dd &1 IfaUY 3 gl & 398
318 FSAT 3cTeaT gl & 3R ag 3dca & SIrar gl

(V2 37h)
The resistance of the electric heater cord is

negligible. So it doesn't heat (Y2 mark)
Whereas due to the high resistance of its heating
element, it produces more heat and becomes
agitated. (2 mark)

b) fASRII3T &I JIRIEHAT 3¢ ellal dTell et T3t
$r 38T 3E B ¢ (V% 3ie)




3T A9 W 8 A TR ferdiehd e 8|

(Y2 37)
The resistivity of alloys is higher than that of the
pure metals that make them. (*2 mark)
These alloys are not oxidized even at high
temperatures. (Y2 mark)

Or
(i) 90 9faRIer gred & v @ ufaieeT i aredshd
H Tur T IfoRies Y 3o AvihA #F SigAT ARl
(1 37h)
(i) 4Q 9faRTET gred Xt & forw a1 gfaRieret &t Aofira
A Sg fSTehl Jed 9ialiyr =60+60=120 Y 5@ AW
gfcRIET & AT UIRdshd H SgAT A1figU|

(1 37)

(i) To obtain resistance of 9Q, two resistors should
be connected in parallel combination and one resistor
in series with them.

(1 mark)
(i) To obtain 4Q resistance, two resistors should be
connected in series whose equivalent resistance =
6Q + 6Q = 120 then added in parallel combination
with this third resistance.

(1 mark)

A & FFA & IgER Il av e ifaw e
fAgd @i are o R gfoigs & Rt & T 3cued
fasrarraR 30Y yafed ORT & FATUCT g g

(1 3%)




fordl =mereh @ ag AUTERT ST Arele A fdegd URT Yarg
I Y AT § faegd afaer wgardr g

(1 37R)
R e 1 gfoyr fAeafaf@d e . AR F&ar
g AR I oFeTs, HTeieh o 3TIIEY Hic & &TThel, Tard
CARCCAC]

(S al, IAF & ¥ 37)

According to Ohm's law, if physical conditions such
as temperature remain constant, then the potential
difference generated between the ends of a resistor
is proportional to the current flowing from it.

(1 Mark)
The property of a conductor which opposes the
current flow in the conductor is called electrical
resistance.

(1 Mark)
The resistance of a conductor depends on the
following factors: the length of the wire, the area of
the transverse cut (cross section) of the conductor,
the nature of the substance.

(any two; %2 marks each)




GfRa 3@ feem afga- 1 3)

1. TFehT & Y@T 3T Y @ fsherey gl ga

& AR 8 S ¥ |

2. ¥ & 3T, Irahg &1F T feur saek SfEoh ¢ga
O 3T ¢a HT 3R BT g |

3. FHT &7 @IV §¢ a% el ¢ |

4. STgT YFaehI &9 JWIT Tl Bl & a6l greehra &1
FSTT BTl & |

5. & TFaHIT 8T Y@V F3 v gut A ufaedg 8
AT 8 |

(FIS IR; TAH HT ¥ 37h)

/
g

(Proper diagram with directions- 1 mark)

1. Magnetic field lines emerge from the North Pole

and merge into the South Pole.

2. Inside the magnet, the direction of the magnetic

field is from its south pole to the north pole.

3. Magnetic field lines are closed curves.

4. Where the magnetic field lines are dense, the

magnetic field is strong.

5. Two magnetic field lines never intersect each other
(any two; 72 marks each)




Or
arg arg e faegerieh died & AR i defel I 3MTehic
T 3 B arell Fzell & aR=AIR FEd B
(1 37h)
aRerifernr & ek Grahid &1F [T FAGR @13 6
Afa g g1 frel oRenfos & sfiaw @el fawgaf
ThEHAT qFaehd &7 Bl &

(1 31h)
i §H 39l cIfgal g1 H fdeId YRIATET dTelsh I 59
JhR Uhs foh §ART 39T faegd &rT & 3T Hevel LT
g, @ FHRY 3T e & ARt 3R R & d
@3t Fr feer A faadr gl

(1 3i)
A multiple-round coil of the cylinder shape of an
insulated copper wire wrapped nearby is called a
solenoid.
(1 mark)
The magnetic field lines within the solenoid are like
parallel lines. All the points within a solenoid have
the same magnetic field.
(1 mark)
If we hold the electric current in our right hand in
such a way that our thumb points towards the
current, our fingers will be wrapped in the direction
of the lines of the magnetic field around the
conductor.
(1 mark)




10.

a) ST 9ehrer fohdr TifelkiGR ool W FRar g af a7 &
THA TehIeT T 3T ATIH H olic Jdr gl 39 °ear
I YhTA T ddeT Fed ol

(1 3i)
Wadd & AeAfaf@d o @a# g-
(i) 3MIdeT HIVT JAT WAdel HIOT Hed SR @A g,
AT zi=zr.
(1 3i)
(i) 3mafaa faor, wrafda fRor qur ey diar
TH & I H g ¢l
(1 3i)
When light falls on a smooth and polished surface,
the light is returned to the same medium by hitting
the surface. This phenomenon is called reflection of
light.
(1 mark)
The following are the two laws of reflection:
(i) The angle of incidence and the angle of reflection
are always equal, i.e. zi=«r.
(1 mark)
(i) The incident ray, reflected ray and normal are
all in the same plane.
(1 mark)

b) (i) 3rader gqor

(Y2 3Th)
AT H GehIr I ATFA/MC FATR fahor gor e
A & fav fHar arar g

(Y2 3Teh)




(i) 3o guor
(V2 37h)
Fifeh 3del  GUUT Wea YT, AT, qUT MR & G
oIel IfafdFd Folld § dUT Soeh SgY Sl 3R dfshd glel
% HRUT FoIal Tfoe &7 g 30 gl &l
(IS Th, Y2 3ih)
(i) concave mirror
(Y2 mark)
It is a converging mirror and is used to obtain a
parallel beam of light.
(Y2 mark)
Convex Mirror
(Y2 mark)
because convex mirror give an erect, virtual and full
size diminished image of distant objects with a wider
field of view.
(Any one, Y2 mark)
Or

3qd o yqdd o

39 o a1 ¥ HleT | 3add o/ g & # &
IR ARy & uder | gdemr dur ARy &
gidr gl AYer gt g

3dcl o T YAWT | 3fadel o HI GINET
IEE eI & THaRuT | fFeheef®e av &
& ® HA Far oar | Farer F & F Far
gl ST 1




3dd o9 H qE] I
gyfdfers  areafas
dUT 3ol d4dT gl

add o9 H qE] I
gfafars  3maly g
e gqar gl

3dd od I Bihd

o geTlcHAS g gl

Fadd ol H Bled
g HOMcHAS grar gl

3dd ol UHhIA I
fom 1 TR g W
hfed otar &

yadd ol Tehrer hr
fpYoT & fowY 2ar &

(P deT; IAH &1 1 3iF)

Convex lens

Concave lens

The convex lens is
thicker from the
middle and thinner
at the edges.

Concave lenses are
thinner in the middle
and thicker at the
edges.

Convex lenses are
used as a
prevention of
farsightedness.

Concave lenses are
used as a prevention
of nearsightedness.

In convex lenses,
the image of the
object becomes real
and inverted.

In concave lenses,
the image of the
object becomes
virtual and erect.

The focal length of
convex lenses s
positive.

The focal length of
concave lenses are
negative.




Convex lenses | Concave lens diverge
converges rays of|rays of light
light at one point

(Any three; 1 mark each)

b)
1 1 1
f v u
(1 3#65)
1 1
f v u
(1 Mark)

c) o el W F whw g 1 e @ af 3§ I
§THAAT 1 S Fgadr gl

(1 37)
When the focal length of a lens is 1 meter, the power
of that lens is called 1 diopter.

(1 mark)

11. | ¢) =scIaT

Nitrogen
12. | c) Sfper AYET

Baking Soda
13. | AwISC

Graphite
14. xﬁ%uﬂagmmg%maqﬁmﬁaam

T fopar s 3T gahg odT gl




Sodium is a highly reactive metal which reacts with
the oxygen present in the air and catches fire.

15,

c) A I § WJ R 38T &l

A is true but R is false.

16.

9 3Fe fhdl &R & fohdl T § a9 oaur 3R e
oA B
(1 37h)
NaOH + HCI - NaCl + H,O
(TT IS 3T 3GIeI0T, 1 3h)

When acid reacts with a base, salts and water are
formed.
(1 mark)
NaOH + HCI - NaCl + H,O
(or any other example, 1 mark)

17.

3108 &ad H HicqdIH HEfc aidl ¢l

(Y2 31)
J9 sgH aAsfees 3Fd Ao FJar & ar wed
STS3HTFATSS 3 HeFd Bl &l

(V2 37h)
CaCO3; + HNO3; > Ca(NOs3), + H,O + CO,
(1 3ih)
Egg shells contain calcium carbonate.
(Y2 mark)

Carbon dioxide gas is released when nitric acid is
added to it.

(Y2 mark)
CaCO; + HNO3;> Ca(NO3); + H,O + CO;,




(1 mark)

18.

AYASH 3T (BITAS 375 gl
(1 3i)
RS IRIEED 3 HCOOH gl
(1 3i)
Y Ugd 9« & T s off 3uceyr & &qur
3ergIond, affer @ (NaHCO;) 38 W 9T & o
ST FehaT Bl
(1 3i)
Methanoic acid (formic acid).
(1 mark)
The chemical formula is HCOOH.
(1 mark)
Any available basic salts, for example, baking soda
(NaHCO3) can be used to relieve this.
(1 mark)

19.

grd 3T4grd

1. a1qV &R 3ierarss | 1. Uy 3wl A
JeTc & BRG] Jirarss
AT g

2. 91qU o] HCl a1 | 2. 31emqu

del H,SO, & 3fAfshar | dsf HCI &

X Hy 3 FAFT &Il | A HSO, &

g, Fifh gISgIoA T | ATATRAT A&7 T
farara & &l &1 | €, T grsgioe &
farrfa &g &
el




3. UIqU 37U gl

3. 3-T‘E—II<;I'5 EEBIEED

gieir 2l

4. IqU STeT (AT A9) @
g8slolT ol fararfad
AT &l § |

4. 3T ST & AT
g & FfRfRar A8
AT & | 37 Hy, &1
ST O farafa w7t

Sl Bl
5.4V Soldeled careT | 5. 3TV Selarcie
Y YollcHD AT Jdgul  hl HKUMcHSD
AT &1 3T §arar &

6. T %ngfr’Hzﬂ
{AET F gISes Aol
Crirs i

6. @ef 3remqu H, &
TINT &L FISgeS
AT ST &

(IS d1; Ycdh T 1 3H)

metals

non-metals

1. Metals form basic
oxides.

1. Nonmetals form
acidic or neutral
oxides.

2. Metals react with

diluted HCI or dilute

H,SO, to release H,
gas, as they displace
hydrogen.

2. Non-metals do
not react with
dilute HCI or dilute
H,SO,, because
they do not

displace hydrogen.




3. Metals are
reducing in nature.

3. Non-metals are
oxidising in nature.

4. Metals displace
hydrogen from water
(or steam).

4. Non-metals do
not react with
water or steam.
Therefore, H, is
not displaced from
water.

5.Metals lose
electrons to form
positive ions.

5. Non-metals gain
electrons to form
negative ions.

6. Not all metals
combine with H, to
form hydrides.

6. All non-metals
combine with H, to
form hydrides.

(Any three; 1 mark each)

Or
HoteT IGEGING]
g arg &I
> arg I et
3ureafa & giar & @ ¥
gl
o | T s
& forT grar g




TS TR AT

o ¥ F 3TEh I
3ffereliepel g1 STel STel arar gl
gl

SUH 31IEh &l SHH 3IEh &l
qUT &4 ¥ T | ges @@ fear
ST & ST &

(FIS ar; TP & 1 37F)
$ToteT: ZnS + O, > ZnO + SO,

fA¥amgs; CaCO; > CaO + CO,
(TAT AT 37T 3CTEI0T, YA HT ¥ 37h)

roasting calcination

It occurs in the Occurs in the
presence of air. absence of air.

_ _ It is for
It is for Sulphide

ores.

Carbonate, oxide,
hydroxide ores.

The ore becomes
partially or The ore is not
completely oxidized.

oxidized.




In this, the ore is | In this, the ore is
completely not allowed to
melted. melt.

(Any two; 1 mark each)
roasting: ZnS + O, > ZnO + SO,

calcination: CaCO; »> CaO + CO,
(Or any other example., Y2 mark each)

20.

a)

e grsgiehtest # YlfSTa 3rar foehel St et
I UTEATT H FTSSIolel & AT § HJocl BISSIehlael Soidl
g, IS grssIeeevor #ga gl

(1 37)

e qudler- 3HJed a8 (Faeafd dell) &

~

AN

BISSIoleilehoT ¥ deeqld © (HJS adT) SeIrar Sirel gl
(1 3&)
Saturated hydrocarbons are formed by the addition

of unsaturated hydrocarbons and hydrogen in the
presence of catalysts such as palladium or nickel,
which is called hydrogenation.

(1 Mark)
Industrial Applications- Vegetable ghee (saturated
fat) is made from hydrogenation of unsaturated fats
(vegetable oils).

(1 Mark)




b) HEewT; (Y2 31eh)

I H e & & T WA & 6§ Fellel T
37 &TACT Bl &1 SH 0T & HGolel &gd ol o
IR H hleeT T ofell H@ell el T A= em@n3it

aTell AWl IT IFET & HhR H AT Hieel qIT
ST 2l

(1 37R)
I: FATSTehT: (V2 37R)

FeT H IR AToThdl 8ldl &l SATAT STH FHIeed & AR
3 qupﬁ TN FS 3T gdrsleh dedl & qmrtg&ﬁ +
AT A TATeT FT &TACT 2y &

(1 3i)

Catenation:
(Y2 mark)
Carbon has an amazing ability to form bonds with
other atoms of carbon itself. This quality is called
catenation. Long chains of carbon in these
compounds carbon are found arranged in the shape
of a chain or ring with different branches of carbon.

(1 Mark)
Tetravalency:
(Y2 Mark)
Carbon has four valency. It therefore has the ability
to form bonds with four other atoms of carbon or
atoms of some other elements.

(1 Mark)

Or




G
CHy — CHiz — CH3z — CHa — CHy
(ii)
CHs -~ CHy — CH — CHj
I
CHo
(i)
CHs
CHz — (.!' — CH3
CH,
Three:
)
CHy — CHs — CHz — ClHa — CHy
(i)
CH3 — CHz— CH — CHyj
|
CHA
(ui)
CHsy
[
CHz—- C — CH3
L]
CHy
b)
) H O

.
H—C—C—OH

l
H

(Y2 31)

(IAF FT V2 37h)

(Y2 mark)

(Y2 mark each)




(1 3) / (1 Mark)

. H H H H H

) L
H~C=(C=(C=(C=(C-—Br

I

H H H H H

(1 3t) / (1 Mark)

iii) H H H H H O
E i 4 9 4 9
, H=—C—C—C—C—C—C—H
l | l l I
H H H H H

(1 3t) / (1 Mark)

\J

21. | a) &T
Glass
22. | ¢) 3T et H
Both of the above
23. | 3iTFdree
Oxygen
24. | sgfae
Insulin
25.|a) A d R gl G § 9T R, A &I EgT <JrEan gl




Both A and R are true, and R is the correct
explanation of A.

26.

ITATETSH: Teh AN X@T A AT, Argfehel T, Teh
Gf8el 33T

(S aY; IA® HT % 37F)
AZAT: TFeld, aR 3T, JHe

(S 2T, TAH F Yo 37h)

Cerebellum: Walking in a straight line, cycling, lifting
a pencil (any two; %2 marks each)
Medulla: blood pressure, salivation, vomiting

(any two; %2 marks each)

27.

. & STl o ST & 3R &I TG
. 37aIfSd ITHEGEAT FT Ahed & [T
. it TR A9 & FAIOT &l Ahed & [T
ST gefe &l AT el
(1S 2 TAH & 1 3ih)

A~ W N =

1. To increase the gap between two children.
2. To prevent unwanted pregnancy.
3. To prevent transmission of sexually transmitted
diseases.
4. To control population growth.
(Any two; 1 mark each)




28.

BRI 3IRW- 1 3%, FIs IR 3T ATHGT, Tcddh HT
V> 37h)

— Stigma

Pistil

(Proper diagram- 1 mark, any four proper labelling;

Y2 mark each)




29.

ASA o 9T fh ey od HeT & WY qUr Yey
diet A & 9T & &g gHIor ¥ Fy drer F ured
gefr 9t o« o)

I
I x (w — (e, (T, (Ty), (T
@ o o (7, )
HUTA, ar &Tull # & hdel Teh Ygeh FeTehid oI&ToT
& @S &ar ¥1gy v oefur sEa

(1.5 3ih)

efada axor & 3@l Fy (T t) @& & wreq qted &
TIYIATOT AT dF 9rar fob o« qur sl 9 &
AT 3:1 A1l AU Fp, I & o o Y e
Y, qid SieT DY yerdr Tefor arer ot A

1.

(To x (ry) -Cossbreeding ,  qy  (ry, T9 @
T = Elel

U HSST & TIAET & TASC @ SATdT g Toh oI&for
gHTAT AT AYATAT & Thd &l

(1.5 3i®)

Mendel found that F is caused by hybridization
between pure long pea plant and pure dwarf
pea plant; All the plants obtained in the
generation were tall.

l.

(TT) «x (‘tt'J — (To, (Ty, Ty, (Ty)
o | o (F




That is, only one of the two traits appears
ancestral trait.
This is called dominant traits.

(1.5 marks)

In the second stage, he; (t t) When self-
polling was done in the plants obtained from
the generation, it was found that the ratio of
long and dwarf plant was 3 : 1. i.e. F, Tall
plants were also dominant in generation, but
dwarf plants were also with recessive traits.

(TO) x (T1) crosspreeding TT) T, (T (0
w 7 il

That is, the use of Mendel makes it clear that

symptoms can be effective or ineffective.
(1.5 marks)
Or

ATdl & foiar &1 FUReT a9y fofor a1 & & 3R
W BIaT &1 7R H XY 707 g 8l § AR #Aer & XX o
g e g1d &1 399 Tuse & o Aer & q& Y apor
A gId &1 el gl STe -AlET & HAET & Fdlol e
I & ar A el off rawar F ARy F IUeT
F H TR & A wRN FAfE A R #* XY O
T gl A (1 37%)

o= fohar & afe gew &1 X folar a7 g7 & & X
ferer qurgE & fAear & ar 3@ XX SisT oo 3
Tl TShr o & H gl | (1 37)




Afehed ST XY 71 Y folar 901 g3 & & feler o1 g+
O Aot ANaeT @ af XY §a91| S8 ofgh &l Sled
g1 (1 3iF)

In human beings, sex is determined on the basis of
specific  sex chromosomes. Males have XY
chromosomes and females have XX chromosomes.
It is clear from this that the female does not have
the Y chromosome. When offspring are produced by
male-female combination, the female may not be able
to produce a male infant at any stage because the
male infant must have XY chromosomes.

(1 mark)

In fertilization, if the X chromosome of a man is
fused with the X chromosome of the woman, then it
will form an XX pair. Hence, the child will be in the
form of a girl. (1 mark)

But when a man's Y chromosome combines with the
female's chromosome X, XY will be formed. This will
lead to the birth of a boy.

(1 mark)

TS gryoT TSYaEgIST gryor




qIyuT $r gg faur oaH
ST 39T el FaI
IR $T ThaT &.

qQIyuT ST gg afer
Sgd S &g

sTel Xl &

SH YhR HI 9T gihar
#, Sfia e & foT 3
Sirar & Tadd gidar gl

SH YR H, g
qYoT & & H
ot & T 37T
St o R @rar
gl

SH YhR o GINUT H Fhrer
HRAYUT T YTshdT &
ATETH O JT & TehIem
Al H Fee
SIS3HTHFATSS 3R dreir T
3ANT Hlch STl IR
ST AT B

PIS ThIA TS
afafafer =g g
gl

qIYoT & 58 i i
ASa = arel Sfia &r
3cUIGal o T H STl
ST &

qIYoT & 38 I
o ST s
grel Sfar &l

3TAFATI & &7
H ST AT gl

qIY0T & 3H YR H, T
3P geraf r Jfed
Fefeh Jerdt # gRafdd
frar Srar g

sHH Sfcer Frafas
it T @
A & AR T
T "THl A T
& forT gamar Srar
gl




qIYoT T fawerardt
QYT T Tg AR def |[TpR Tt FeIaR,
3N Fo Ael-g Aarel 3N (Fhaesh R 37
SFEIRAT @ ol SITem | el IR-Sehrer

el T2 St #F
gIcTl &1

(@IS eT; Tcdeh HT 1 3ieh)

. . Heterotrophic
Autotrophic nutrition -
nutrition

. The mode of
The mode of nutrition L _
_ _ _ nutrition in which
in which the organism _
_ the organism does
can prepare their own _
not prepare their
food.
food themselves

In this type of In this type, the
nutritional process, the |organism is
organism is dependent on other
independent of other organisms for food
organisms for food. as nourishment.

This type of nutritional
mode involves
preparing food using No photosynthetic
carbon dioxide and activity occurs.
water in the presence
of sunlight through the




process of
photosynthesis.

The organism
employing this mode of
nutrition are known as
producers.

The organisms
employing this
mode of nutrition
are known as
consumers.

In this mode of
nutrition, simple
inorganic substances
are converted into

complex organic ones.

It involves
consumption of
complex organic
compounds and
then digested to
break down into
simpler
components.

This mode of nutrition
is carried out by the
plants and some blue-
green algae and

The heterotrophic
mode of nutrition
occurs in all
animals, fungi, and
all other non-

bacteria. photosynthetic
organisms.
(Any three; 1 mark each)
b)

(i) 3TerdIoteT &1 aRaga:




3TTerEISToT 3] §ATCTee 3] & AR & S8 Hohd
gl T # Alg[g SAaT $hst H gar ¥ i
Jar &1 g AT Y 39 Fdet H o Jar g FaH
TSt i HAT gt B

(1 3ih)

(i) PIeeT SSIHTFASS HI TRAG:

gl TG, P SSHFASS Ul H 3w goreTdlier B
SAfoIT, I§ SAGIR §AR (&d Telled 7 gfod &
T & Fde & BHher H o JATAT ST gl

(1 37)

(i) Transport of oxygen:
The oxygen molecule can bind to the haemoglobin
molecules easily. Haemoglobin present in the blood
takes up the oxygen from the air in the lungs. It
carries the oxygen to tissues which are deficient in
oxygen before releasing it.

(1 mark)

(i) Transport of carbon dioxide:
Similarly, Carbon dioxide is more soluble in water.
Therefore, it is mostly transported from body tissues
in the dissolved form in our blood plasma to lungs.
(1 mark)
Or




T
\ CGrath)

BRI 3R@- 1 3%, P IR 3T ATHRA; TAdh FH
Y5 37h)

Left renal (Prop er

artery

Left kidney
Left renal vein

Aorta

Left ureter

Vena cava
Urinary bladder

Urethra

diagram- 1 mark, any four proper labelling; 2 mark
each)

b)




W A geg A g o
STl &

3ereioteT gerd Tercl ST IR &d a8l
aEel A & T §

SHPT TATT WR & SHPT TATT cddl o hd
e I8 © e
HeFellotel gebel T & | JHTeRdioTer g T o

FROT 3AHT LT ol

T Fr 3R FT o IAdr §

IROT IeTahl IFd il BicT

giar & e

HAAT F 3TaRITRAT

P ] GIE]]
N fART3N & 3rgenifAenr disr &

IFd YdIg T cdId IFd YdTg &l &d1d e gidm

37T BT & J

(FS a; IAF I 1 3F)

Arteries

Veins

Carries blood away
from the heart

Carries blood
towards the heart

Carries oxygenated
blood

Carries
deoxygenated blood

Its location is deep

lts location is close

within the body to the skin
Their colour is red | Their blood is blue
due to the due to the

oxygenated blood

deoxygenated blood

The lumen in

arteries is narrow

The lumen in veins

is wide




The pressure of
blood flowing is
high

The pressure of
blood flowing is low

(Any two; 1 mark each)




